
 
 
 
 
 
 
 

Set 2 Code 59/2/2 

Section Question 
Number Answer 

A 

1 D) Statement I is false, but Statement II is true. 

2 B) Belarus 

3 C) Now India has made it clear that the policy of ‘no first use’ can be 
reviewed. 

4 A) Communist Party of India 

5 C) Electronic Voting Machine 

6 B) (ii) (i) (iv) (iii) 

7 A) Internal disturbances 

8 B) B.R. Ambedkar 

9 D) (i), (iv), (ii), (iii) 

10 B) Kyoto Protocol 

11 D) The Assertion (A) is correct, but the Reason (R) is incorrect. 

12 A) Exploitation of resources 

 


